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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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—o— MW a1 —— MW
43 -
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42 -
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41 -
41 1
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m=900,m FV0=0 m=945,m FV0=0
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P3-8

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

07:10 300 150.0 2.583 S {Rig@07:10 Fzh (KRAERSE)
07:55 300 150. 0 2.583 E  1BRi&e07:55 Fa1 (RAERERE)
09:00 300 150.0 2.583 E|  {Ri1&@09:00 Fzh (KRE{ERLEE)
09:45 300 150.0 2.583 S| {Ri%@09:45 F i (KRAERSE)
10:30 300 150. 0 2.583 E BRi%e10:30 Fz1 GRAERERE)
11:10 300 150.0 2.583 S Rige11:10 Fzh (GRAERSE)
11:50 300 150.0 2.583 =l RRiB011:50 Fzh (REAKEE)
12:30 300 150. 0 2.583 E BRige12:30 Fz1 CGRAERESE)
13:10 300 150.0 2.583 S {Ri%e13:10 Fzh (RAERSE)
14:00 300 150.0 2.583 = RRiB@14:00 Fz (RFAEEE)
14:50 300 150. 0 2.583 E BRige14:50 Fz1 CGRAERESE)
15:40 300 150. 0 2.583 El BRi&e15:40 Fzh CGRAEREE)
16:45 300 150.0 2.583 = RRiB016:45 Fz (RFAKEEE)
=23t 3900.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.0

RE X B TRECHUR B oK.

#[EKECE (1860.0 vs 4128.0) 35
RER B HEREC/PHIE Rk, AT RERNIHRELR SR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=66 (2025-06-03)

T e g g S S S B S g s
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Warning: lcol [FVI',| "FVO’'] missing

1700 728
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. v
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1.0

Warning: lcol ["WC1',  "WC2'] missing

—_ ME #

maxM —} 45

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-8

BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

07:55 273 150.0 2.583 F  BRi1%e07:55 Bz (GRAERE)
08:30 273 150.0 2.583 5| {Ri%@08:30 Bz (KRAAMERSE)
09:10 273 150. 0 2.583 E[ BRi%e09:10 Bz (GRAERSE)
09:45 273 150.0 2.583 F BRi%e09:45 BE1 (GREERE)
10:20 273 150.0 2.583 =l {Ri%@10:20 B3 (RAERSE)
10:55 273 150. 0 2.583 E BRi%e10:55 Bzl (GRAERERE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:15 273 150.0 2.583 =l RiBe12:15 Bz (REAKEEE)
12:50 273 150. 0 2.583 E BRige12:50 Bz (GRAERESE)
13:25 273 150.0 2.583 (£=| {Rige13:25 Bz (RAEDSE)
14:00 273 150.0 2.583 (Z=| 1Rig@14:00 B3 (RAERSE)
14:35 273 150.0 2.583 (Z=| {Ri%e14:35 Bz (REAERSE)
15:10 273 150.0 2.583 (£=| 1Ri%e15:10 Bz (RAEDSE)
15:50 273 150.0 2.583 |Z=| {Ri&e15:50 B (REEZEBE)
16:50 273 150.0 2.583 (Z=| {Ri%@16:50 Bz (RAEHSE)
21t] 4095.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

ERGEBLRT 4K (600) 5THA (273. 0) R FF, FREH T & MREEZRS % XIER
ZRIA KPR EBE330. 0 ml.
H#EEIRECZE (1907. 0 vs 4945.0) 535



P3-8_0, Day=65 (2025-06-02)
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1200
610 '%g
196 Warning: lcol [FVI',| "FVO’'] missing 0
0

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-8

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

09:50 273 150.0 2.583 |Z=| {Ri%e09:50 Bz (KREAEZEHE)
11:05 273 150. 0 2.583 FA| {Ri%e11:05 Bz (CGRAEESE)
12:00 273 150.0 2.583 FA| {Ri%@12:00 Bz (GRAEEE)
12:55 273 150. 0 2.583 FA| 1BRi%@12:55 Bzh (kA{EREE)
13:45 273 150.0 2.583 FA| 1B2i%@13:45 B3h (kBEREE)
15:10 273 150.0 2.583 FA| 1BRi%@15:10 B3h (RAHERSE)
Bit]1638.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

[E;&EC 5432.0 K5, EiNF{KECAR&M%ER
#H[EKECE (2007.0 vs 5432.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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P3-8_0, Day=64 (2025-06-01)
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200 4
150 -
100 -

50 A

VI, VB*2RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET -
1200

53 i

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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